ERBHEMR () BRABEA

ERBREHE (2) OBBEORFCLOBEOH

REFTFICEHET S REEE

2 st o —$g == &t AIER
—— mmaﬁgﬁiggmté A
= A% | za B4 A
AR |(RERET BT LA BT 0| o0.0% :
D8 |{RERET LB T OB 14 | 17, 5y BB (RERER) o
FE 6
s |1 EEOBE 20 | 36 30/ 2FA (BEREA) 1
W2 RELEBEETS RREMTHEFOBE e (Reeem) 12
29
Iz 4
1 EFEOBH
R RELEBEGSTEOWB 10 T2 hEE 3
% 6
1 HEERROEEOBS ET 8
5 |2 BIFBHOBHF 27 33. 8% |3 x &% 11
3 EHLEBETSTEOBE T2 ?
27
= it 80 100. 0%
GE) BAEMIASE 2 MEMBEALTROTHY . BWHUNBEOEFL, & - BB
B e DEEDHE AHEOMEZ—B LA &MBHD.
(B £ DERRE = & DELEH)
B 1) _E D R
ER A% | me
FET#R 26 | 32.5%
T 12| 15 0%
5 17| 2134
SES ] 1| 1384
S 14| 17.5%
&t 80 | 100.0%




